[image: ]


WHEAT WAS

280
380
220
440

iNONESIAN CONSUMERS PAY

380
220
280
440

aUSTRALLIAN WHEAT PRODUCERS RECEIVE

440
380
220
280
[image: ]
iT EXPERIENCES A 

TERMS OF TRADE GAIN
TERMS OF TRADE LOSS
DEADWEIGHT LOSS




NEED TO PAY AUSTRALIA

LESS
MORE
[image: ]


THIS GRAPH HAS 

A SMALLER AREA THAN
[bookmark: _GoBack]A LARGER AREA THAN
THE SAME AREA AS

A COMBINED AREA THAT IS 

THE SAME AS 
SMALLER THAN
LARGER THAN
image1.png
Suppose that Indonesia and Australia are the only two countries in the world that trade wheat. The following graph
shows the world market for wheat, where X is Australia's export supply and M is Indonesia's import demand:
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On the previous graph, use the black point (X symbol) to indicate the equilibrium in the world market for wheat.
Dashed drop lines will automatically extend to both axes.

Now, suppose Indonesia's government imposes a $160-per-ton tariff on wheat imports. On the previous graph, use
the orange line (square symbols) to draw the export supply curve with the tariff. Next, place two purple points
(diamond symbol) to indicate the new equilibrium with the tariff: Specifically, place one purple point at the price
Indonesian consumers pay for imported wheat and the quantity of wheat they import, and place the second at the
price Australian wheat producers receive for wheat and the quantity they export to Indonesia.

Without the tariff, the world price of wheat was

per ton and Australian wheat producers receive

per ton. Under the tariff, Indonesian consumers pay
per ton.
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Since Indonesia is a large country, it experiences a because the tariff it imposes means it
needs to pay Australia for wheat than before the tariff was imposed. On the previous graph, use the
green quadrilateral (triangle symbols) to shade the area that represents this terms-of-trade effect.

‘The tariff creates deadwelght loss in both Australia and Indonesia. On the previous graph, use the red triangle (cross,
symbols) to shade the area representing deadweight loss in Indonesia. Then use the tan triangle (dash symbols) to
shade the area that represents the effect of the tariff on production efficiency in Australia.

Now consider the effect of the tariff on Indonesian welfare. The following graph shows Indonesia's domestic market
for wheat, where S is the supply curve and D is the demand curve:
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First, place a horizontal black line (X symbols) at the free-trade equilibrium world price on the previous graph. Next,
place two horizontal purple lines (diamond symbols) on the graph: one at the domestic price of wheat in Indonesia
after the tariff has been imposed and one at the price Indonesia has to pay to Australia to import the wheat. Next,
use the green quadrilateral (triangle symbols) to shade the area representing the terms-of-trade gain or loss
experienced by Indonesia. Finally, use the red triangle (cross symbols) to shade the areas representing the
deadweight loss that occurs in the Indonesian economy as a result of the tariff. By hovering your mouse over the
areas you drew on both graphs, you can note that the green region on this graph has the
green region of the top graph and that the red regions on this graph have a combined area that is

the red region of the top graph.

Summarize your results from the previous parts by filling in the blank cells in the following table. (8e sure your
answers start with dollar signs.)

Terms of Trade Gain or Loss _ Deadweight Loss Net Effect

Indonesia
Australia
World





